UNIT 5: Integers
TOPICS:

· 6.2 Adding Integers Using the Zero Principle

· 6.3 Adding Integers that Are Far from Zero

· 6.4 Integer Addition Strategies

· 6.5 Subtracting Integers Using Counters

· 6.6 Subtracting Integers Using Number Lines

· REVIEW E12 + E15


6.2
Adding Integers

 

· Opposite Integers – Two integers that are equal distance from zero on a number line. Example: +2 and -2
· Zero Principle – The sum of two opposite integers is 0. Example: (+2) + (-2) = 0

Ex. 1)
(+5) + (-5) = _________


(-3) + ___________ = 0

Ex. 2) Negative Numbers appear as arrows moving to the left and positive numbers appear as arrows moving to the right. Show (+2) + (-5) on the number line at the top of the page. 

Ex. 3)
We are going to use the Zero Principle to determine the sum of two integers.  Positive numbers will be represented with ______________________ coloured tiles and negative numbers will be represented with ______________________ coloured tiles. 

Add each of the following, using coloured tiles. Model your results with counters.
a.) (+5) + (-2) = ________________

b.) (-3) + (-4) = ________________

c.) (-4) + (-3) = ________________

d.) (+3) + (+2) = _______________

e.) (+2) + (-5) = _______________

f.) (-1) + (+5) = ________________

g.) (-5) + (-3) = ________________

h.) (-4) + (+7) = _______________

Ex. 4) 
When adding integers, is (+3) + (-2) the same as (-2) + (+3)? Can I reverse the numbers?

ASSIGNMENT: ___________________________



Activity #1:
Integer War

Game:


You will need a deck of cards between you and your partner.  Take out all the cards between A (1) and (6).  Shuffle these cards and deal them evenly to you and your partner.  Black cards are positive (+) and red are negative (-).  This game is played like war; the first person to correctly state the sum of the two values wins both cards.  The winner is the person with the most cards at the end. 

6.3 
Adding Large Integer Numbers

Ex. 1)
Show the addition of each pair of integers using a number line.  Represent a negative integer using a red arrow and a positive integer using a black arrow. 

a.) +35 and -40

b.) +12 and -8


c.) +80 and -40

d.) -32 and +16

e.) -15 and -10


Ex. 2)
Fill in the missing number.

a.) (+5) + __________ = (+2)

b.)
___________ + (-1) = (-4)

c.)
(+4) + __________ = (-2)

d.)
___________ + (-3) = (-6)

e.)
(+4) + __________ + (-3) = (+4)
f.)
___________ + (-2) = (-7)

Ex. 3) 
Evaluate using the Zero Principle.

a.) (-12) + (+15) + (-3) = _________________

b.) (-25) + (+37) + (-5) = _________________

c.) (+15) + (-19) + (-4) = _________________

ASSIGNMENT: ___________________________



6.4 
Addition Strategies 

Ex. 1) 
Using colour counters, add the following numbers. Draw a picture to show your work.  

a.) (+6) + (-3) = ______________

b.) (-5) + (-3) = ______________

c.) (+4) + (-5) = _____________

d.) (-2) + (+6) = _____________

Ex. 2)
Add each of the following using a number line. 

a.) (+15) + (-45) = 

b.) (+14) + (+20) = 

c.) (-13) + (-15) = 

Ex. 3)
Use the Zero Principle to add the following.

a.) (+6) + (-3) + (-4) + (-6) =


b.) (-5) + (+4) + (-3) + (-4) + (-4) = 

c.) 
(-45) + (+35) + (+40) = 


d.) (-38) + (+40) + (-5) = 

Ex. 4)
Group the positive and negative numbers together, add, then solve.










(+)
          (-)
a.) (-3) + (+2) + (+5) + (-6) + (+2) + (-7) = _____________

b.) (-4) + (-3) + (-3) + (+2) + (+6) = _____________

c.) (-3) + (+2) + (-5) + (-1) + (+2) = _______________
ASSIGNMENT: ___________________________



6.4
Subtracting Integers

Coloured counting tiles can be used to show subtraction of integers as well.  To do so, we need to be able to represent numbers multiple ways using the Zero Principle.

Ex. 1) 
(-3) can be represented multiple ways.  

Ex. 2)
Subtract each of the following integers using coloured counting tiles. 

a.)
(+5) – (+4) = ____________

b.)
(-3) – (-2) = _______________

c.)
(-3) – (-5) = ____________

d.)
(-4) – (+6) = _______________

e.)
(+2) – (-5) = ______________

f.)
(-5) – (+4) = _______________

g.)
(-4) – (-4) = ______________

h.)
(+4) – (+9) = ______________

i.)
(+3) – (+6) = ______________
j.)
(-2) – (-6) = ________________

Ex. 3)
Does the order of subtract matter? Is (-3) – (+5) = (+5) – (-3)?

Ex. 4)
Is (-4) – (-5) = (-4) + (+5)? What is the short cut for subtracting a negative number?

· Subtraction is the same as adding the opposite integer. 
Ex. 5)
Subtract the following using the rule you developed in example 3.

a.)
(-4) – (-3) =


b.)
(+3) – (-2) = 

c.)
(-5) – (-9) =


d.)
(+2) – (-5) = 

ASSIGNMENT: ___________________________



Activity #2:
Integer War

Game:


You will need a deck of cards between you and your partner.  Take out all the cards between A (1) and (10).  Shuffle these cards and deal them evenly to you and your partner.  Black cards are _____________________ and red are ______________________. This game is played like war; the first person to correctly state the difference of the two values wins both cards.  The winner is the person with the most cards at the end. 

6.6 
Subtracting Integers Using a Number Line

Ex. 1)
Determine the value of each of the following pairs of integers using a number line.

a.) (+2) – (+3) =  
b.) (-3) + (+4) = 

c.) (-4) – (-3) =  
d.) (+5) + (-7) =  
e.) (-6) – (-3) =  
Ex. 2)
Find the missing number.

a.)
_______ - (-4) = (+8)



b.)
_______ - (+3) = (-4)

c.)
(-4) - ________ = (-3)



d.)
(-5) + ________ = (-3)

e.)
(-3) - ________ = (-10)


f.)
________ - (-4) = (+9)

ASSIGNMENT: ___________________________



Review

Ex. 1) Write 2 addition statements using integers that has a sum of -4

Ex. 2) Write 2 subtraction statements using integers that have a difference of -3

Ex. 3) Calculate the following:

a.) (-3) + (-5) =




b.) (-2) + 7 = 


c.) (-4) – (-2) =




d.) (-6) + 3) =


e.) 5 + (-3) = 




f.) (-3) – (-3) = 
g.) (-6) + (-6) = 




h.) (-12) – (+15) =
i.) (5) + (-43) = 




j.) (-5) + (-11) = 
k.) (+21) – (+34) = 



l.) (-6) – (-5) = 

Ex. 4) The temperature outside at 5:00pm was +5oC. It dropped 3oC per hour. How cold is it at 10:00pm?

Ex. 5) Jonny has $2 in his pocket.  He owes Tim $5 and Fred $13.  Steve owes him $8.  Write an addition statement showing how much money will Jonny have if he settled all his debts.

Ex. 6) Write the missing number.

a.) (-3) + __________ = (-5)



b.) __________ + 3 = (-2)
c.) (4) + ___________ = (-5)



d.) ___________ + (-6) = (-9)

e.) (-3) - _____________ = (-5)



f.) ____________ - (-1) = 0

g.) (-5) - ____________ = (-1)



h.) ____________ - (-4) = 7

ASSIGNMENT: ___________________________
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